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See Video for step-by-step  
solutions to each problem.

6x2 + 10 2x2 − 3

3x3 + 15x2 + 20 -9x3 + 4x2 + 8x

x2 + x -2x4 + 11x + 3

xy + 2x + 6y + 5 3x2y - 4xy2 + 8xy
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Exercises

Simplifying polynomials

4x2 + 7 + 2x2 + 3 

x2 2y5x 3xyx 2x-3x 4yxand andand and

12x2 − 7 − 10x2 + 4 

2x3 + 5x2 + 10x2 + 20 + x3  x3 − 5x2 − 10x3 + 8x + 9x2  

−3x2 + 4x2  − 3x + 4x −x4 − x4  + 7x + 5x − x + 3  

xy + 3x + 8y − x + 5 − 2y 6yx  + 3x2y − 4y2x  + 2xy

Simplify.

Simplify.

Simplify.

Simplify.

Simplify.

Simplify.

Simplify.

Simplify. (Careful! This one is tricky.)

Are these “like” terms? Are these “like” terms?
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No
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No

Yes
No


